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(1) 4.5kg + 2000g = 2.25
(2) 1.2m x 50cm = 0.6 m’
(3) 0.8m x 1.25cm = 100 cm’
(4) 0.02L + 2.5mL = 8
(5) 0.056km x 4.8m = 268.8 m’
(6) 8000g + 2.5kg = 3.2
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40cm aio,c4 .1.35m agb

Y] salall aolus
1.35m x 40cm = 1.35m x (40 +100)m = 1.35m x 0.4m = 0.54m”’
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oLl b Jisully algl,all yuas S
1.2L + 270mL = 1.2L + (270 + 1000) = 1.2L + 0.27L = 1.47L
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1.47L =+ 7 =0.21L
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29.04g + 0.24g = 121
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189.8g + 52g = 3.65
£l 3.65 aSlo oSas 03l
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3.5m* =+ 50cm = 3.5m° + (50 + 100)m = 3.5m* + 0.5m = 7m
Gilaill 9o Wsb Jliol 7 o caomss]
7% 2.75 = 19.25 JD
wlesl i 03D 19.25
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1500 x 450mL = 675000mL
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675000mL + 1000 = 675L

sz dginiod] Ol awaS Traze oyl als b 83)le)l @luall Jo1 10las (13)
Gooluall oo

5L + 320mL = (5 x 1000)mL + 320mL = 15.625
.Egm 15 oo ol oSar 03l
0.625 :iuiadl pladdl awaS
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